FILL IN THE MISSING SYMBOLS:
X OR +

6      3 = 9

5      4 = 20

2       10 = 20
8     2  =  10

10    10 = 100

1       5  =  5

2    4  =  8

9     5  =  45

5     5  =  25

6     5  =  11

2      2 = 4

3     5  =  15

10    4  =  14

4    4  = 16

8     2  =  10

9    5  =  45

9     10  = 90

4    5  =  20

7     10  =  70

12    5  =  60

11    5  =  16

2    9  =  11

4     11  =  44

3     10  =  30

6    10  = 16

7    2  =  14

3    11  = 33

COMPLETE THE FOLLOWING TABLES:

1 X 2 =



1 X 5 =


1 X 10 =

2 X 2 =



2 X 5 =


2 X 10 =

3 X 2 =



3 X 5 =


3 X 10 =

4 X 2 =



4 X 5 =


4 X 10 =

5 X 2 =



5 X 5 =


5 X 10 =

6 X 2 =



6 X 5 =


6 X 10 =

7 X 2 =



7 X 5 =


7 X 10 =

8 X 2 =



8 X 5 =


8 X 10 =

9 X 2 =



9 X 5 =


9 X 10 =

10 X 2 =



10 X 5 =


10 X 10 =

11 X 2 =



11 X 5 =


11 X 10 =

12 X 2 =



12 X 5 =


12 X 10 =

